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Calculus Practice: Techniques for Finding Antiderivatives 10a

Evaluate each indefinite integral. Use the provided substitution.

1 f2sin (1 + In SX)

dx; u=1+1In 5x

A) —2sin (1 +In 5x) +
B) —2csc (1 +In 5X) +
C) —2cos (1 +In SX) +C
D) —2tan (1 +In SX) +C

3)

2 _
f_5S€C (1+1n 2X) dx; u=1+1n -2x
A) =5tan (1 +1n —2x)+C
B) —5sin (1 +1In -2x) +C
C) —=5cot (1 +1n —2x) +C
D) —5sec (1+1n —2x)+C

5) fScsc (—4 + In 4x)

dx; u=-4+1n 4x

A) —5tan (—4 + In 4x) +
B) —5csc (=4 + In 4x) +
C) —5cos ( 4 +In 4X)
D) —5cot (-4 + In 4x) + C

7)

2 4+1
f Sec( il nSX)dx; u=4+In 5x

A) 2sin(4+1n 5X)+C

B) 2csc (4+ln 5X)+C

C) 2In |sin(4+ln 5x)| +C

D) 2In |sec(4+ln 5X)+tan(4+ln 5X)| +C

9) f_ 4cot (3 —)l—(ln —2x)

dx; u=3+1n -2x

A) —41n [sin (3 +1n —2x)| +C
B) —4sec (3 +In —2X) +C
C) —4cot (3+1n —2x) +C
D) —4In ‘sec (3 +In —2X)| +C

3
1) |-
) ,[ Xcsc (3 + In —SX)

A) 3cos (3 +In —SX) +C
B) 3tan (3 +In —SX) +C
C) 3cot (3 +1n =5x) +C
D) 3sec (3 + In —SX) +C

dx; u=3+1In -5x
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2 p—
2 stec (5 +In SX) d U=5+ In —5x
A) 2tan (5 + In —SX) +C
B) 2csc (5 + In —SX)
C) 2sec (5 +In SX)
D) 2cot (5 +In SX) +C
2

4)

f_csc (3+ln 4X) d =3+ 1In 4x
X

A) tan (3 + In 4X)

B) cot (3 +In 4X)

C) cos (3 +In 4x

+
_l’_

)+C
D) csc (3 +1n4x)+C

f _ 4cot (2 +In —4x)

6) dx; u=2+1In —4x

A) —4In |sec (2 +In —4X)| +C
B) —4sin (2 +In —4x)+ C
C) —4In |sin (2 +1n —4x)| + C
D) —4cos (2 + In —4X) +C

8)

f2csc(3+ln2x) dx U=3+ In 2

A) 2csc (3 +1n2x)+C

B) 2cos (3+1n 2X)+C

C) 2In |csc(3+ln 2X)—cot(3+ln 2X)| +C
D) 2In |sin(3+ln ZX)‘ +C

fsec(S—i—ln X)d
X

10) X; U=5+1In X

A) In ‘sin(5+ln X)| +C

B) In |sec(5+ln X)+tan(5+1n X)| +C
)] tan(5+ln X)+C

D) In ‘sec(5+ln x)| +C

12) f_ 5sin2(—4 +1n 2X)
Xcos (—4 +In 2X)

A) —5csc(—4+1n2x)+C
B) —5sin (—4 + In 2X) +C
C) —5cot (—4 +1n 2x) + C
D) —5sec (—4 +1n 2x) +C

dx; u=-4+1n 2x
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5
13
) chsc (3 +In 4X)

A) —5cos (3 +In 4X) +C
B) —5tan (3 +In 4X) +C
C) —5cot (3 +1n 4x) +C
D) —5sin (3 +1n 4x) + C

dx; u=3+1n 4x

4 2+1
15)[ COS( - nx) dx; u=2+1In X

xsin® (2 +In X)
A) —4csc (2 +In X) +C
B) —4cos (2 +In X) +C
C) —4sec (2 +In X) +C
D) —4sin (2 + In x) +C

14) f— >
Xsec (—1 + In —5x

A) —5sec (—1 +In —SX) +C
B) —5cot (—1 +In —5X) +C
C) —5tan (-1 +In —5x) + C
D) —5sin (=1 +In =5x) + C

)dx; u=-1+In-5x

16)[ - 2 dx; u=5+1In 2x
Xsin (5+ln 2X)

A) 2In |csc(5+ln 2X)—cot(5+ln 2X)| +C
B) 2sec (5+ln 2x)+C

C) 2sin(5+In2x)+C

D) 21In |sin (5 +1n 2x)| + C

17 f— 208 (-2+1n-3%) dX: U=—-2+In —3x
Xsin (—2 + In —3X)

A) —2In ‘sec (—2 +In —3X) + tan (—2 + In —3X)| +C

B) 2In |sec (—2 +In —3X)‘ +C

C) —2cot (-2 +1n -3x) +C

D) —2In ‘sin (—2 +In —3X)| +C

2
18) |-
) .[ Xsin (—5 + In —SX)
A) —2csc (<5 +1n —5x) + C
B) —2In |csc (=5 +1n —5x) — cot (=5 +In —5x)| +C
C) —2cos (—5 +1In -5x) + C
D) —2sec (—5 +In —SX) +C

dx; u=-5+1In -5x

5
19
) szin (3+ln —3X)

A) 5tan (3 +1n =3x)+C
B) S5In |sec (3+ln —3X)+tan(3+1n —3x)‘ +C
C) Ssec (3 + In —3X) +C
D) 5In |csc (3+ln —3X)—c0t(3+ln —3x)| +C

dx; u=3+1n -3x

1
20
) chos (1 +In —SX)

A) In |sec (1 + In —SX) +tan(1 +In —5X)‘ +C
B) sin (1 +1n =5x) +C

C) In |sin(1+1n =5x)| +C

D) In |csc (1 + In —SX) —cot(l +In —5x)| +C

dx; u=1+1In -5x

-

© 2022 Kuta Software LLC. All rights reserved. Made with Infinite Calcul us



© 2022 Kuta So ftware LLC. All rights

WWW.jmap.org
© 2022 Kuta Software LL C.

Name

Al1l ri ghts reserv ed.

Calculus Practice: Techniques for Finding Antiderivatives 10a

Evaluate each indefinite integral. Use the provided substitution.

dx; u=1+1In 5x

1 f2sin (1 + In SX)

A) —2sin (1 +In 5x) +
B) —2csc (1 +In 5X) +
*C) —2cos (1 +In SX) +C
D) —2tan (1 +In SX) +C

3)

2 _
f_5S€C (1+1n 2X) dx; u=1+1n -2x
*A) —5tan (1 +In —2X) +C

B) —5sin (1 +1n —2x)+C
C) —5cot (1 +1n —2x) + C
D) —5sec (1+1n —2x)+C

5) fScsc (—4 + In 4x)

dx; u=-4+1n 4x

A) —5tan (—4 + In 4x) +

B) —5csc (=4 + In 4x) +

C) —5cos ( 4 +In 4x) +C
*D) —5cot (—4 + In 4x) + C

7)

2 4+1
f Sec( il nSX)dx; u=4+In 5x

A) 2sin (4+1n 5X)+C

B) 2csc (4+ln 5X)+C

C) 2In |sin(4+ln 5x)| +C

*D) 21In |sec (4+In 5X)+tan(4+ln 5X)| +C

9) f_ 4cot (3 —)l—(ln —2x)

dx; u=3+1n -2x

*A) —41n |sin (3 +1n —2x)| + C
B) —4sec (3 +In —2X) +C
C) —4cot (3+1n —2x) +C
D) —4In ‘sec (3 +In —2X)| +C

3
1) |-
) ,[ Xcsc (3 + In —SX)

*A) 3cos (3 +In —SX) +C
B) 3tan (3 +In —SX) +C
C) 3cot (3 +1n =5x) +C
D) 3sec (3 + In —SX) +C

dx; u=3+1In -5x

reserved.

2 p—
2 stec (5 +In SX) d U=5+ In —5x
*A) 2tan (5 + In —SX) +C
B) 2csc (5 + In —SX)
C) 2sec (5 +In SX)
D) 2cot (5 +In SX) +C
2

4)

f_csc (3+ln4x) d =3+ 1In 4x

A) tan (3 + In 4X)
*B) cot (3 +In 4X)
C) cos (3 +In 4x

+
_l’_

)+C
D) csc (3 +1n4x)+C

6)

f_ 4cot (2 + In —4x) b U=+ 1n _dx

A) —4In |sec (2 +In —4X)| +C
B) —4sin (2 +In —4x)+ C

“C) —41n [sin (2 +1n —4x)| +C
D) —4cos (2 + In —4X) +C

8)

f2csc(3+ln2x) dx U=3+ In 2

A) 2csc (3 +1n2x)+C

B) 2cos (3+1n 2X)+C

*C) 21In |csc (3+ln 2X)—cot(3+ln 2X)| +C
D) 2In |sin(3+ln ZX)‘ +C

fsec(S—i—ln X)d
X

10) X; U=5+1In X

A) In ‘sin(5+ln X)| +C

*B) In |sec(5+ln X)+tan(5+1n X)| +C
)] tan(5+ln X)+C

D) In ‘sec(5+ln x)| +C

12) f_ 5sin2(—4 +1n 2X)
Xcos (—4 +In 2X)

A) —5csc(—4+1n2x)+C
B) —5sin (—4 + In 2X) +C
C) —5cot (—4 +1n 2x) + C
*D) —5sec (—4 +In 2x) + C

dx; u=-4+1n 2x
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13)[ > dx; u=3+1n 4x 14) f— > dx; u=-1+1In -5x
Xcsc (3 +In 4X) Xsec (—1 +In —SX)

*A) —5cos (3 +In 4X) +C A) —5sec (—1 +In —SX) +C

B) —5tan (3 +In 4X) +C B) —5cot (—1 +In —SX) +C

C) —5cot (3 +1n 4x) +C C) —5tan (-1 +In —5x) + C

D) —5sin (3 +1n 4x) + C *D) —5sin (=1 + In —=5x) + C
15)[4“’5(2”“) dx; u=2+In x 16)[ 2 dx; u=5+In 2x

xsin” (2 + In x) xsin (5 + In 2x)

*A) —4csc (2 +In X) +C *A) 2In |csc (5 + In 2X) — cot (5 +In 2X)| +C

B) —4cos (2 + In X) +C B) 2sec (5 +In 2X) +C

C) —4sec(2+In x)+C C) 2sin(5+In2x)+C

D) —4sin (2 +1n x)+C D) 21In |sin (5 +1n 2x)| + C

2c0s (=2 + In —3
17[ cos (2 +In X)dx;u=—2+ln—3x

~ xsin (—2 +In -3 X)
A) —2In ‘sec (—2 +In —3X) + tan (—2 + In —3X)| +C
B) 2In |sec (—2 +In —3X)‘ +C
C) —2cot (-2 +1n -3x) +C
*D) —2In ‘sin (—2 +In —3X)| +C

2
18) |-
) ,[ Xsin (—5 + In —SX)
A) —2csc (<5 +1n —5x) + C
*B) —2In |csc (=5 +1n —5x) — cot (=5 +In —5x)| +C
C) —2cos (—5 +1In -5x) + C
D) —2sec (—5 +In —SX) +C

dx; u=-5+1In -5x

5
19
) szin (3+ln —3X)

A) 5tan (3 +1n =3x)+C
B) 5In |sec (3+In —3X)+tan(3+1n —3x)‘ +C
C) Ssec (3 + In —3X) +C

*D) SIn |csc (3 +In —3X) — cot (3 +In —3x)| +C

dx; u=3+1n -3x

1
20
) chos (1 +In —SX)

*A) In |sec (1 + In —SX) + tan (1 +In —5X)‘ +C
B) sin (1 +1n =5x) +C
C) In |sin(1+1n =5x)| +C
D) In |csc (1 + In —SX) - cot(l +In —5x)| +C

dx; u=1+1In -5x

-
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